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Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
wTo i erPpRd eI Te i
(@) Who said, “Education is a bi-polar
process”?

e 3 ‘R--11fe’ mqﬁ[mm?

(b) Who was the advocator of individual aim
' of education?

PR IR T PRSI @1 ?
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(3)

(2)
(h) There is only one open university in
(¢) Mention any one obstacle to national Assam.
integration. ( Write True or False )
HIoR 2SS 4R JfE I R @A 961 IS PG (A 92 T Rafme s |
e=R Sl (31 ¢ Ry for )
(@) Mentlf)n 'the name of the interr.*iational () The word ‘introspection’ has been
o-rgamzatlon thaI': promotes mtt?ma— derivedsti o two fermsiintro’ Shd
tional understanding and co-operation. ‘spection’.
SREAGE @R WF RAMPel [FeT F4 ( Fill in the blank )
SIS FRASTCOH T ford | TRLTFR TAE A% ‘introspection™
(¢ Who is known as the father ‘of e At e EBT R
Sociology? ‘spection’3 *{1 (22 |
el 3R [ 0
SIS T Roe $1F &1 I/ 2 ( (e
i) is a process by which an () Give any one difference between
individual learns to conform to the psychology and educational psychology.
norms of a group. TEARER o fre Seierd we 9w 7@
( Fill in the blank ) CRTCAT BT 212l foram |
(zR 9$ Afe I wREce IR il
e T P 2= 9 | 2. Give very short answers to the following
( ﬁﬁqﬁw ) questions : 2x5=10
(g) The term ‘globalization’ was coined by oo fral eppTE S o Sa fir
Theodore Levitt.
( Write True or False ) (@) Write any two characteristics of non-
ﬁq’m o CTHERY . T formal education. .
‘globalization’ 1 I9ZH R | o-srereifes R R e o1 ey fora |
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(b) What is philosophy of education?
R v 2

(c) Write any two advantages of observation
method.

4 “1afe3 & e 7o1 ke fo=

(d) Define educational sociology.

et SrEfREEEe s

(e} State any two differences between
liberal and vocational aim of education.

PR TRt W 8 e TEe o R
CRTCT 701 ~N1%43 S|s 31 |

Give brief answers to the following questions

(any four) : 5x4=20

ST a5 U fird (R e wif{oy)

(a) Write about the role of ‘television’ as an
informal agency of education.

Gﬁﬁﬁﬂ#@ﬁhwqmmﬂﬁbmﬁ‘@ﬁﬁﬁaﬁ:§ﬁ$1
o fordn o

(b) Write the importance of vocational aim
in the present system of education.

TR P e R e e
e o o
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(S)

(c) Write a note on the impact of philosophy
on education.

e ™A1 2o Tode Jft G for |

(d) State any five differences between
primary group and secondary group.

TP AE G v e R @ean Ao «nsfm
TeEY 91|

(e} Write a note on case study method of
educational psychology.

e YeTRER w6 RS vmfed go|e «f
GOt fori |

(/ Explain the relationship between
Education and Sociology.

e o IMEREET gEe 9 TTE U100
0

“Individuality of the child should be
developed in his social setup.” Do you agree
with the statement? Justify your opinion.

“Prefbey 01 T30 SIS “fcrrocz Frefbe FFem
R 23 a1 SR e Bt G ?
oM ToTed IETTel (T4 |
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(6)

Or / <[l

Explain the role of a school as an agency of
formal education.

ST FreE g Bt Raema i 7o
0 A1

Write about the needs and importance of
national integration. 5+5=10

HOE ARG 2 F SFQ T4 fordt |
Or/ 941

Elucidate the concept of international
understanding. Discuss the role of education
in promoting international understanding. 10

TEHOT JHEE GEUCE] H® SF© 6+ 1 |
HEESF WA TAeR cvae B oE
SIRPT FTofe Sl A1 |

What is educational psychology? Define it.

What are the contributions of educational

psychology towards the theory of education?
2+2+6=10

e IEREE I Qe ? [WR RS 0w 1 ReER
eI fers s TiReER w=wme & 2
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(7))

Or / 34T

Explain the concept of ‘globalization’. What

may be the positive and negative impact of

globalization in the field of education?
2+(4+4)=10

CTFRIPIR AR Y 311 FrFR oo +R7

[ CERIFIR LE OF A9dF AR

(TR T+ ?

“No man exists without a society and no
society exists without group.” On the basis of
this statement, explain the need and
importance of social group. 5+5=10

‘os SREe IR SRR I IF Wod HR=A
SR S TACE I (2 SRR HRe At
Vel q1 IR ACASATS] S BT AL 47 |

Or / 931

What is  socialization? Discuss the
characteristics of socialization process. 4+6=10

TAFIFT I QUA? AR AR
GSPRPTR Al <1 |
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